"CJT 3.5 MPa" Series Hydraulic Cylinders

YUKEN's "CJT 3.5 MPa" Series Hydraulic Cylinders are provided with many mounting
types so that they can be used for wide use of general purpose industrial machines such as

machine tools.

Moreover, Switch-Set "CJT" Series Hydraulic Cylinders with a proximity switch which
facilitates detecting a position with a slide proximity switch on the cylinder body is also

available.

(Refer to page J-69 for details.)

Specifications
Model Numbers CJT35—% sk sk 3k %k —3k % %30
Cylinder Bore mm 321’ (;100 ' 152?36;2 080
Mounting Type SD, LA, LB, FA,FB, CA,CB, TA, TC
Nominal Pressure 35MPa
Maximum Allowable Pressure 4.5 MPa
Proof Test Pressure 5.0 MPa Graphic Symbol
Minimum Working Pressure 0.2 MPa
Operating Maximum Speed 300 mm/s
Operating Minimum Speed 8 mm/s
32 1000
40 1000
Maximum Stroke Cylinder 50, 63 1200
mm Bore 80 1600
100 1600 Tolerance of Stroke
125, 160 1800 Stroke Tolerance
Tolerance of Stroke Refer to the table "Tolerance of Stroke" mm mm
Tolerance of Thread JIS B 0211-6g(JIS grade 2 or equivalence) 100 or less i
Ambient Temperature Range -10 - +80°C Morethan 100 to 250 5P
Applicable Standard Compliant with former JIS B8354 Morethan 250 to 630 i
See page J-7 for definition of pressure terms. Morethan 630 to 1000 +(l>'4
May be limited to even lower value in accordance with the buckling strength. More than 1000 to 1600 e
Refer to page J-10 for strokes above buckling strength. More than 1600 to 2000 + (1).8

Anwmarbl (7273)495-231
AHrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BnaroseweHck (4162)22-76-07
BpAH ck (4832)59-03-52
BnapnnBocTok (423)249-28-31
Bnanvkaeka3s (8672)28-90-48
Bnapnmup (4922)49-43-18
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoH ex (473)204-51-73
EkaTtepuH 6ypr (343)384-55-89
MBaHoBo (4932)77-34-06
WxeBck (3412)26-03-58
MpkyTck (395)279-98-46
KasaHb (843)206-01-48

Poccua +7(495)268-04-70

Mo Bonpocam npogax v noanep>Xxun ob palanTtech:

KanuHuurpapn (4012)72-03-81
Kanyra (4842)92-23-67
KemepoB o (3842)65-04-62
Kvpoe (8332)68-02-04
KonomHa (4966)23-41-49
Koctpoma (4942)77-07-48
KpacHopap (861)203-40-90
KpacHosApck (391)204-63-61
KypraH (3522)50-90-47
Kypck (4712)77-13-04
Nnneuk (4742)52-20-81
MarHuTtoropck (3519)55-03-13
Mocksa (495)268-04-70
Mypwm aHck (8152)59-64-93

HabepexxHble YenHbl (8552)20-53-41
HwxHum Hoeropo g (831)429-08-12

HoBok y3Heuk (3843)20-46-81
Hosoc néunpck (383)227-86-73
Ho#A6 pbe K (3496)41-32-12

KasaxcTtaH +7(7172)727-132

Owmck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04
MeHsa (8412)22-31-16

Mepmb (342)205-81-47
MeTpo3aBopack (8142)55-98-37
MckoB (8112)59-10-37

PocTtoB -Ha-[loHy (863)308-18-15
PasaHb (4912)46-61-64

Camapa (846)206-03-16

CaHnkr-lNeTepbypr (812)309-46-40

CapaHck (8342)22-96-24
CapatoB (845)249-38-78
CeBacTononb (8692)22-31-93
Cumdepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coun (862)225-72-31
CraBpononb (8652)20-65-13
CypryT (3462)77-98-35

yne @nt-rt.ru Il https://yuken.nt-rt.ru

CbiKTbIB Kap (8212)25-95-17
TamboB (4752)50-40-97
TBepb (4822)63-31-35
TonbATTH (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
YnaH-Yas (3012)59-97-51
YnbAHOBC K (8422)24-23-59
Yoha (347)229-48-12
Xabaposc k (4212)92-98-04
Yebokcapbl (8352)28-53-07
YenAabuHck (351)202-03-61
Yepenosel (8202)49-02-64
YnTa (3022)38-34-83
AkyTck (4112)23-90-97
Apoc naenb (4852)69-52-93

Kuprusuna +996(312)96-26-47



[ Model Number Designation

F— CJT35 —LB! 32 ' S$:i100 B |—-Ai B D —K —30
lind lind o Cush e
: i : ‘Cyli : ion ‘Air V
Packing ) Mounting: Cylinder ' Rod 1q’ nier Cushion 1 u . o : oo Design
Materia Series Number Tvoe . Bore ! Size » Stroke T Pogﬁoandj.Valva Velve Options Number
P mm i mm ype | Position {Position
(Viewed from Rod End)| £ . vt pust Cover
B : A B . D . (Material: Nylon Tarpaulin,
- S T Heat resistant up to 80°C)
None Wlth_ Upper 3R|ght iLeft
Nitrile | L ggi'g?dzn (Sadad) (Sendad) (Sd) 5+ vy pust Cover
Rubber ! 3 5 A . (Material: Chloroprene,
(standard) | ; | R: R R Heat resistant up to 130°C)
3 ; : - Right :Upper :Upper
: SD, LA | o With | | .
P lcurss: LB FA | 92 40¢ Cuionon |, .. g, |HWithDust Cover
Fluoro ) ’ 50, 63 :S: Cylinder! theRodside|~” "~ ¥ 12" (Material: Conex, Heat
Rubber | o> MPa Series FB,CA ' 80, 100 |SpeciaiiSiroke Under{Under Right istant up to 200°C %0
Standard Cylinder CB, TA: oo 1o e . 3 ! resstant up to )
c 1251600 H: Codn. A
6: | o wih D2 DG T with ook Nut (Std)
Hydroge- 3 3 Cushionon |Le&ft :Left 3Under
nated | L theCepside| | L : With T-End
Nitrile 1 P _ N: (Rod End Eye)
Rubber N: 3NoCush|0n3
Without af vl | M : With Y-End
Cushion : 1 ) )
(Sencad) (Rod End Clevis)
Y 1. Asfor each direction of port, cushion adj. valve & air vent valve,
please select from @®OC®) viewed from rod end(see the figure
on theright). ® Rod Side Cap Side
<Standard directions> T T iy
Port : @), Cusion Adjusting Valve : ®), Air Vent Valve: © @7?}73{} Qﬁi —— 77@ 777777777777 ‘ ?
Note : The direction of port and cushion adj.valve is not available 1 ] @
to be the same direction. However, the other combinations are © @1*?} @ | —
available. ©
Y& 2. Using the options in combination is available.
Please specify the option code in the alphabet.
Ex. FKL
[ Mounting Type
Code Name Ilustration of Mounting Type Code Name Illustration of Mounting Type
. Cap Detachable
SD Basic Type CA Eye
Foot Mounting Cap Detachable
LA Side Lugs cB Clevis
Foot Mounting .
LB Side End Angles TA Rod Trunnion
FA Rod Rectangular TC Intermedlate
Flange Trunnion
FB Cap Rectangular
Flange

"CJT 3.5 MPa" Series Hydraulic Cylinders



J-10

Maximum stroke limited by buckling strength
Calculation of Maximum Stroke

1. Calculate rod end coefficient n from the table on the right.

2. Calculate the maximum installation length L by applying various
values such as cylinder bore, rod size, pressure, and rod end
coefficient to the figure below.

3. Refer to the external dimensions and calculate the mounting length
Lo when retracted.

Usetheformula S=L-Lo and calculate the maximum stroke S.
(Example) Cylinder bore 50 mm, rod size 22 mm, mounting type TA
(rod trunnion type) standard cylinder operated at 3.5

. Rod End i Rod End
Mounting Type Coefficient] Monting Type Coefficient
Type n_| M n

o

- - =
Lo Y S Lo o
LA | =Lt S S——
ghinsE
L
T

LB

"‘5’

S L

(o}
~
ﬁn
—
—
o

T

MPa pressure. Calculate the maximum stroke. Assume G-a
that the lock nut for rod end attachment is not used. S 1 TA |sT T1lo
L L |
From thetable ontheright n=1 & Eﬂi@zﬁt & T
& HT T
From the figure below L =930 FA I1sT Lo 2 | TC |s Lo 1
From Dimensional Drawing (3-16) and Rod End L | L
1 G
Attichment (‘]'1_7 ) ] ======= 4 CA S@?{J—u_t—u/
Lo= (44+64)=108 S | Lo CB LLO
therefore S=L-Lo=930-108 L
hence S=822mm S=L-Lo
S : Stroke mm
L : Mounting Length at extension mm
Lo : Mounting Length at contraction mm
Note: For Lo dimensions, refer to dimensional drawing and add the
dimensions of rod end attachment.
(Factor of Safety 4)
5000 —|
= n=%4
3000 —; ] A
E 190 190 afl n=1
2000 —3 |80 A
E 75 63 P -
= 56 A "
= - 45 d .
1000 E‘ . 36 LT LT LT n
= T~<_ |28 o ol
—] ~o A
- 227~ d dRP%s
500 — e
= 18 SS A
_ 16 e 1
= 14 TITTr-—=~ “'“‘"’{/ o
— A1 2
300 = Rod Size L L~ )l/
E e L1 || A
200 — mm L1 L
E i<
= AT 1
E /// / )
_ L~ 1
100 pEq !
Maximum > |
Mounting Length ATl | [l ] il L L
L 0.5 1 2 5 1 10 20 50 100 200
|
mm ! Load kN
|
1 L | \ | \ |
|
, N\ NN\
Pressure | \\ \ \
MPa 3 :
________ - _\_ _\_ _\ \ \ \ \
5
AN AN
7 N o o ™ o o o o
32} < Te} © [¢6) o &I. g

Cylinder Bore mm



I Syllabus Table

i g i Velacity Flow rate
Rod Size Sl | Rethers ALz Curipr L4 by aunit flow rate| by aunit velocity
Bore Push/Pull Area ;
Code 2 1MPa 35MPa 10L/min 10mm/s
mm mm cm 5 mm/s L/min
Push 8.0 0.8 2.81 208 0.5
32 16
Pull 6.0 0.6 211 277 04
Push 12.6 1.26 4.40 132 0.8
40 16
Pull 10.6 1.06 3.69 157 0.6
Push 19.6 1.96 6.87 85 1.2
50 22
Pull 15.8 1.58 5.54 105 0.9
Push 31.2 3.12 10.91 53 19
63 22
s Pull 274 274 9.58 61 16
Push 50.3 5.03 17.59 33 3.0
80 28
Pull 4.1 4.41 15.44 38 2.6
Push 78.5 7.85 27.49 21 4.7
100 36
Pull 68.4 6.84 23.93 24 4.1
Push 122.7 12.27 42.95 14 7.4
125 45
Pull 106.8 10.68 37.38 16 6.4
Push 201.0 20.10 70.37 8.3 121
160 56
Pull 176.4 17.64 61.75 9.4 10.6
[l Mass Table
Approx. Mass may be obtained from the formula bel ow.
Mass=@ +[®xStroke(mm)/100] + O + O
_ _ | ®Additiona (©Basic Mass(Each Mounting) DAdditional Mass
Cylinder | @Basic Mass By A TEnd | Y-End || o
Bore Mass }
mm | sDtype| UMitStoke | 1A | 1B FA B | cA | o8 | Ta | Tc |(RodEnd/(RodEndly )
100mm Eye) Clevis) K
L M
32 117 0.41 0.12 0.19 0.17 0.24 0.12 0.12 0.05 0.3 0.15 0.20 0.02
40 177 0.45 0.19 0.23 0.25 0.32 0.18 0.15 0.19 0.48 0.16 0.34 0.02
50 2.56 0.78 0.28 0.36 0.41 0.50 0.26 0.30 0.19 0.56 0.22 0.35 0.03
63 3.98 0.94 0.29 0.46 0.56 0.64 0.40 0.36 0.19 0.70 0.22 0.35 0.03
80 7.55 122 0.66 0.86 1.40 1.56 1.02 0.82 0.19 1.15 0.78 101 0.1
100 11.4 2.00 0.96 1.60 1.96 2.25 1.28 1.38 0.41 3.10 1.30 1.76 0.3
125 15.6 3.30 1.42 2.24 3.78 4.24 4.24 4.42 0.58 4.80 3.19 4.36 0.5
160 35.0 4.90 2.60 5.68 7.76 8.78 8.05 8.91 1.13 6.10 4.29 5.82 11

1 Tie Rod Tightening
When tightening tie rods, do not tighten only one tie rod tightly at a
time, but gradually tighten the tie rods in the order of the numbers
shown in the figure on the right. Note that one-sided tightening of tie
rods may cause operation failure or chattering.

Bore mm 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160

Tightening Torque|

41 | 41 | 41 | 10 21 35 87 | 180
Nm

"CJT 3.5 MPa" Series Hydraulic Cylinders J-11



J-12

SD : Basic Type

Cushion adjusting valve (Standard position:®))

“B” Thd.

E

M+ Stroke

Air Vent Valve

@
N I
7 1 5

4 Places

£

Lock Nut for Rod

Connection Port (Stanard Position:@)

Rc “S” Thd. 2 Places

H+-Stroke

K+ Stroke

KK Dia.

With Dust Cover
(Options)

The air vent valve can provided at the remaining two of the four locationsin position

®,®),0,0D), that are not designated as port and cushion adjusting valve positions.
(Port direction: @), cushion adjusting valve direction : © and © for standard ®)

Nylon Tarpaulin,
Chloroprene

Conex

{32—63 Dia.

1/3 Stroke+X

80-160 Dia. 1/4 Stroke+X

{32-63 Dia.

1/2.5 Stroke+X

80-160 Dia. 1/3 Stroke+X

)
)

WB'LT:“A B |Bi|C|D|E|F|G|H|h|J|K|L|M|N|P|Q|R|S| T U KK | X
32]16|M12x1.25 [19]24]13[15/10]38[30| 725|103 |34 58] 11| 7| 44| 33) 1, | Max.5 [m6x1 36| 50
40| 16 [M12x1.25 | 19| 24|13/ 15[ 10|38 |30| 7/25|103|34 |58 11| 7| 0| 37| 35 | Max.5 |mex1 40| 50
50|22 |M18x15 |24|36|19|15]10(38|30| 11/ 25|103[34 58] 11| 7| 2] 47| 35| Max.5 [mex1 45| 55
63| 22 |M18x15 |24|36|19]15|10|38(33] 11|25/ 106 34|61 | 11| 9 76| 56| 35 | Max.5 |Mex1.25 | 45|55
80|28 |M24x2 | 32| 48|24 |19] 16|45 |31] 14/ 32| 12443 ]67] 14| 10| 94| 70[ 15 | Max.5 [M10x125 | 60| 65
100|36|M30x2 | 41|60|30|23|16] 45|31 17/ 32] 124 | 43| 67| 14| 12| 114] 89 15| Max.5 [M12x15 | 71|65
125 45 |Ma2x2 | 60| 84|41|25]20]45|37| 22/ 32| 134| 47| 73| 14| 16| 138 110] 15 | Max.5 [M16x15 | 80| 65
16056 |M48x2 | 70| 96|50 |29] 25|50 (42| 26 38| 155 |54 | 84| 17| 19| 176 142| 34 | Max.5 [M20x15 | 100| 70




LA : Foot Mounting Side Lugs
“B” Thd. GG+ Strok .
o g —— r:ﬂismke With Dust Cover
« h Connection Port (OptlonS)
@ " Rc*“S" Thd. 2 Places
CHINES) N\ LR =g
® @+ 4 A el ———— —le B
) ¥
e @7 e Lock Nut for Rod *m*m:i:k fffffffffff -
\\ O End Attachment
O B1 Hex W_Y Y W
FF Dia. Through "D"Hex | Y Vit Stroke N Nylon Tarpaulin, | 32-63 Dia. ~ 1/3 Stroke+X
BB 4 Places Chloroprene 80-160 Dia. 1/4 Stroke+X
32-63 Dia.  1/2.5 Stroke+X
Notes:1. The socket head cap screw shall be used as a mounting bolt. Conex 80-160 Dia. 1/3 Stroke+X
2. As for cylinder bore 32-100, in case the port direction is o
or O, pipe fittings may interference with cylinder mounting
bolts. And as for cylinder bore 32-100, the port positions are Cylinder Bore| 32 | 40| 50
as shown on the right(MM dimensions). Refer to instructions MM 50616
on page J-4 for details.

9" a| B |Bi|C|D|E|h|L{M|N|Q|S| T |U|V|W|Y AA|BBCC DD EE|FF|GG |KK|X
32 |16|M12x1.25|1924|13|15| 7|34|58|17| 44|17, |Max.5| 35 | 73 | 10 | 18 | 69 | 84| 8[22 03%| 44| 9| 142 | 3650
40 |16|M12x1.25|19(24|13|15| 7|34|58(17| 503/ |Max.5| 35 | 73 | 10 | 24 | 80 | 100 | 8|25 30| 50 |12| 142 | 40 |50
50 [22|M18x1.5 |24|36|19|15(11|34(58|17| 62 |3/ |Max.5| 35 | 73 | 10 | 24 | 92 | 112 (12|31 021°| 6212|154 | 45|55
63 [22|M18x1.5 |24|36|19|15(11|34|61|19| 76|3/g|Max.5| 35 | 76 | 10 | 24 | 108 | 128 |12|38 2% | 7612|157 | 45|55
80 [28|M24x2  |32|48|24|19|14|43|67 (23| 94|15 |Max.5| 48 | 82 | 13 | 32 | 128 | 150 |19|47 0220| 94|14[191 | 60 |65
100 [36|M30x2  |41|60(30|23(17|43|67|30(114 |15 |Max.5| 57 | 72 | 18 | 27 | 154 | 182 | 24|57 074|114 |18|207 | 71|65
125 |45|M42x2  |60(84|41|25|22|47|73|38|138 |15 |Max.5| 67 | 70 | 22 | 23 | 189 | 224 [29|69 ~1i00|138 22| 243 | 80 |65
160 |56|M48x2 70|96 |50(29|26|54 84|43|176 |34 |Max.5| 78 | 82 | 24 | 26 | 236 | 278 | 42|89 %178 |26| 280 | 100 | 70
LB : Foot Mounting Side End Angles

DD + Stroke
® — C_E_L_ M-+ Stroke With Dust Cover
Q T h ‘ Connection Port (Options)
| " Rc “S” Thd. 2 Places
@??‘?@‘ % R =FHp T
°® ®g SHETR e ————— o- & o
é Lock Nut fo<r(Rod / < L
: ‘ N s Tttt = -—F
@ : @ End Attachment i ? T
! B1 Hex
EE — V] 1 1 v
Y D'Hex W| U+ Stroke W LL
CC Dia. Through
© 4 Places Nylon Tarpaulin, [32-63 Dia.  1/3 Stroke+X
Chloroprene 80-160 Dia. 1/4 Stroke+X
32-63 Dia.  1/2.5 Stroke+X
Conex 80-160 Dia. 1/3 Stroke+X

Cylinder
Boe | A B Bi/C|D|E|h|[L|M|Q|S| T |U|V|W|Y |Z|AA|BB|CC|/DD|EE|KK|X
32 [16 |MI12x1.25 19|24 |13 |15| 7|34 (58| 44 |17 |[Max.5|149|23|10| 54| 5| 33| 55| 9|142| 33| 36|50
40 |16 |M12x125 |19 |24 |13 [15| 7|34 |58 | 50 | 3/ |[Max.5| 153 |25|12| 60| 5| 35| 60|12 |142 | 37| 40|50
50 |22 |MI8x1.5 |24 (36|19 |15 |11 (34|58 | 62 |35 [Max.5|155|26|12| 70| 6| 41| 72|12 |154 | 47| 45|55
63 |22 |[MI8x15 |24|36|19 |15 (11|34 |61| 76 |35 |Max.5|162|28|12| 80| 6| 48| 86|12| 157 | 56| 45|55
80 | 28 | M24x2 32|48 (24 19|14 |43 |67 | 94 | 1% |Max5|192|34|14| 97| 8| 59|106|14|191| 70| 60|65
100 | 36 | M30x2 41|60 (30|23 |17 |43 |67 |114 | L5 [Max.5| 204 | 40|18 |120| 9| 70|127 |18 |207 | 89| 71|65
125 | 45 | M42x2 60 |84 |41 |25 |22 |47 |73|138 | 1% |Max.5| 228 |47 |22 |138|10| 86| 155|22|243 | 95| 80|65
160 | 56 | M48x2 70 |96 |50 |29 | 26 | 54 | 84 | 176 | 374 |Max.5| 271 |58 |26 | 178 | 15 | 111 | 200 | 26 | 280 | 128 | 100 | 70

"CJT 3.5 MPa" Series Hydraulic Cylinders

J-13



J-14

FA : Rod Rectangular Flange

®
BB FF+Stroke |
AA “B"Thd. cC_E_L M Stroke With Dust Cover
‘ Q T h 5 Connection Port (Options)
| | | B Rc “S” Thd. 2 Places
TR i | [T e———— T
i alg a
SIS NARRNS. Fre.c: DA B— e
| | [a) L X
&% | oo o B ——
© Lock Nut for Rod
End Attachment V- Stroke
B1 Hex
. “D” Hex Nylon Tarpaulin, | 32-63 Dia. ~ 1/3 Stroke+X
CC Dia. Through Chloroprene 80-160 Dia. 1/4 Stroke-+X
4 Places )
32-63 Dia.  1/2.5 Stroke+X
Conex {80-160 Dia. 1/3 Stroke+X }
Cylinder
Bore A B Bi | C/ID|E|h|L|M| Q]| S T V |W| Y| Z | AA|BB|CC|DD|FF | KK | X
32 |16 | M12x1.25 |19 |24 |13 | 15| 7 (34 |58 | 44 | 174 | Max.5 | 125|10| 33| 47| 58| 72| 7|30|142| 36|50
40 |16 | M12x1.25 |19 |24 |13 | 15| 7|34 |58 | 50 |38 | Max.5 | 125|10| 36| 52| 70| 84| 7| 30| 142| 40|50
50 | 22 | M18x1.5 24 |36 |19 | 15|11 (34 |58 | 62 | 37| Max.5 | 125 | 10| 47| 65| 86 |104| 9 | 34| 154 | 45|55
63 | 22 | M18x1.5 24 13619 | 15|11 (34|61 | 76 |38 | Max.5 |130|10| 56| 76| 98| 116| 9 | 34| 157 | 45|55
80 | 28 | M24x2 32|48 (24|19 |14 (43|67 | 94| 1% | Max.5 |153|16| 70| 95| 119 | 143 |12 | 42| 191 | 60 |65
100 | 36 | M30x2 41 [ 60 |30 | 23|17 |43 |67 [114 | L% | Max.5 | 159 | 16 | 84| 115 | 140 | 166 |14 | 50| 207 | 71 |65
125 | 45 | M42x2 60 | 84 |41 | 25|22 |47 |73 |138 | L5 | Max.5 | 175 | 20| 110 | 138 | 176 | 212 |18 | 60| 243 | 80 | 65
160 | 56 | M48x2 70 | 96 |50 | 29 | 26 | 54 | 84 |176 | 374 | Max.5 | 203 | 25| 142 | 178 | 225 | 225 |22 | 72| 280 | 100 | 70
FB : Cap Rectangular Flange
“B"Thd. @
N FF+Stroke BB
c E L M- Stroke AA With Dust Cover
h Connection Port || w T, Q ) (0pt|0ns)
Rc “S” Thd. 2 Places ‘ ‘ | ‘
R : o 111 o y
PELYSEN, - i g
B - N a
IRESEl © g
€
V + Stroke
“D” Hex CC Dia. Through . .
4 Places Nylon Tarpaulin, | 32-63 Dia. ~ 1/3 Stroke+X
Lock Nut for Rod Chloroprene 80-160 Dia. 1/4 Stroke+X
End Attachment
B1 Hex 32-63Dia.  1/2.5 Stroke+X
Conex {80-160 Dia. 1/3 Stroke+X }
Cylinder
Bore A B B1|C |D|E|h|L|M| Q]S T V |W| Y Z | AA | BB |CC| FF | KK | X
32| 16 [M12x125 |19 | 24 |13 [ 15| 7|34 |58 | 44|14 [Max.5| 128 | 10| 33| 47| 58| 72| 7 |152| 36 |50
40 | 16 |M12x1.25 |19 |24 (13 | 15| 7|34 |58 | 50 |3/ |Max5 128 | 10| 36| 52| 70| 84| 7| 152 | 40|50
50 | 22 | M18x1.5 24 |36 |19 | 15| 11 (34|58 | 62|35 |Max.5| 128 | 10| 47 | 65| 86| 104 | 9 | 164 | 45 |55
63 | 22 | M18x1.5 24 |36 |19 | 15| 11|34 |61 | 76 |35 |Max.5| 131 | 10| 56| 76| 98| 116 | 9 | 167 | 45|55
80 | 28 | M24x2 32|48 |24 | 19|14 43|67 | 94 |L% |Max.5| 159 | 16| 70 | 95| 119 | 143 | 12 | 207 | 60 | 65
100 | 36 | M30x2 41 | 60 |30 | 23|17 |43 |67 | 114 | L% |Max.5| 163 | 16| 84 | 115 | 140 | 166 | 14 | 223 | 71 | 65
125 | 45 | M42x2 60 | 84 |41 | 25|22 |47 |73 |138|L% |Max.5| 179 | 20 | 110 | 138 | 176 | 212 | 18 | 263 | 80 | 65
160 | 56 | M48x2 70 | 96 |50 | 29 | 26 | 54 | 84 | 176 | 34 |Max.5| 209 | 25 | 142 | 178 | 225 | 225 | 22 | 305 | 100 | 70




CA : Cap Detachable Eye

Cylinder Bore 32 - 80

AA+Stroke
- C_E L M+ Stroke -
E— h Connection Port RV
Rc “S” Thd. 2 Places R “W"
L - " Wi
& - ith Dust Cover
gtfgfi I @******’@ (Options)
Lock Nut for Rod 45* -
End Attachment
B1 Hex U+ Stroke | BB
“D"Hex
Cylinder Bore 100 - 160 AA-Stroke
— cC_E L M-t Stroke -
B"Thd, h Connection Port RV
Rc “S” Thd. 2 Places Nylon Tarpaulin, | 32-63 Dia.  1/3 Stroke+X
N BRI e e e Chloroprene 80-160 Dia. 1/4 Stroke+X
S 32-63 Dia.  1/2.5 Stroke+X
D#*Ew* o ———— ——- Conex 80-160 Dia. 1/3 Stroke+X
<
Lock Nut for Rod R e
End Attachment
Ba Hex U+ Stroke [
“D" Hex
Cylinder
e A B Bi1| C| D| E h L | M Q S T U VvV | W Y Z | AA |BB| KK | X
32 | 16 | M12x1.25 19 | 24 | 13 | 15 7|34 |58 44 | L7 |Max.5 | 137 | 17 | 14 16_0(_)070 12 | 161 | 12 36 | 50
40 | 16 | M12x1.25 19 | 24 | 13 | 15 7|34 |58 50 | 3¢ |Max.5 | 137 | 17 | 16 | 20 _0‘_]034 14 | 161 | 14 40 | 50
50 | 22 | M18x1.5 24 | 36 |19 | 15| 11 | 34 | 58 62 | 3¢ |Max.5 | 137 | 19 | 16 20_0‘_)084 14 | 173 | 14 45 | 55
63 | 22 | M18x1.5 24 | 36|19 | 15| 11 | 34 | 61 76 | 38 |[Max.5 | 140 | 19 | 16 204)(.)034 14 | 176 | 14 45 | 55
80 | 28 | M24x2 32 |48 | 24 | 19 | 14 | 43 | 67 94 | L5 |Max.5 | 175 | 26 | 22 32_(f'100 20 | 223 | 20 60 | 65
100 | 36 | M30x2 41 | 60 | 30 | 23 | 17 | 43 | 67 | 114 | L5 |Max.5 | 200 | 32 | 30 40_0‘_)100 25 | 260 | 25 71 | 65
125 | 45 | M42x2 60 | 84| 41 |25 | 22 |47 | 73| 138 | L5 |Max.5 | 226 | 42 | 36 4570(_)100 32 | 310 | 32 80 | 65
160 | 56 | M48x2 70 | 96 | 50 | 29 | 26 | 54 | 84 | 176 | 34 |Max.5 | 261 | 45 | 42 504)(.)100 36 | 357 | 36 | 100 | 70
CB : Cap Detachable Clevis
Cylinder Bore 32 - 80
C E L M-+ Stroke @
“B"Thd. h Connection Port RV v P?‘” v
Rc “S” Thd. 2 Places R “W" ‘m
¥ —iasm) AN
ks \H:n‘ | ‘ o TAJ ]
S‘ttfzg’:ﬂ_ ©+—————— '@f (G} e + 0@ With Dust Cover
Lock Nut for Rod /:é o e S 718 Dia. H@T‘ | ’T@H (Options)
End Attachment Th h
B1 Hex U+ Stroke oug © .
apy <
D" Hex a
~
Cylinder Bore 100 - 160 ® X
cC _|E L M+ Stroke T Q
“B"Thd. h Connection Port R V" Y PRLY
Rc “S” Thd. 2 Places R “W” ‘ |
ﬁ? ‘ @ Nylon Tarpaulin, | 32-63 Dia. ~ 1/3 Stroke+X
PR\ f i Chloroprene 80-160 Dia. 1/4 Stroke-+X
8 il | 0
?J*HE O ——————— (G gt sty e () 32-63 Dia.  1/2.5 Stroke+X
i /BEBA Conex 80-160 Dia. 1/3 Stroke-+X
Lock Nut for Rod e Zf8Dia.Qé | %@
End Attachment Through i
B1 Hex U+ Stroke ©
“D"Hex
Cylinder
Bore A B B1 C D E h L M P Q S T U Vv w Y Z | KK X
32 16 | M12x1.25 19 | 24 | 13 | 15 7 | 34 | 58 | 16 44 | L7 | Max.5| 137 18 | 15 8| 12 36 | 50
40 16 | M12x1.25 19 | 24 | 13 | 15 7 |34 | 58| 20 50 | 3¢ |Max.5| 137 18 | 15 12 | 14 40 | 50
50 22 | M18x1.5 24 | 36 | 19 | 15 | 11 | 34 | 58 | 20 62 | 38 |Max.5| 137 19 | 17 16 | 14 45 | 55
63 22 | M18x1.5 24 | 36 | 19 | 15 | 11 | 34 | 61 | 20 76 | 38 | Max.5| 140 19 | 17 16 | 14 45 | 55
80 28 | M24x2 32 | 48 | 24 | 19 | 14 | 43 | 67 | 32 94 | L5 | Max.5| 175 32 | 23 16 | 20 60 | 65
100 | 36 | M30x2 41 | 60 | 30 | 23 | 17 | 43 | 67 | 40 | 114 | L5 |Max.5 | 200 | 32 | 30 20| 25 | 71 | 65
125 45 | M42x2 60 | 84 | 41 | 25 | 22 | 47 | 73 | 45 | 138 | L% | Max.5| 226 42 | 36 | 225 | 32 80 | 65
160 56 | M48x2 70 | 96 | 50 | 29 | 26 | 54 | 84 | 50 | 176 | 374 | Max.5| 261 45 | 42 25| 36 | 100 | 70

"CJT 3.5 MPa" Series Hydraulic Cylinders

J-15



J-16

TA : Rod Trunnion

AA+Stroke
@ “B"Thd. c _|E L M+-Stroke
V] \\,(v V | RZ" h Connection Port
| Rc “S” Thd. 2 Places
CHIE | R == =B
=] <
o O 1500 & IO ————— o
L | = <
o 1 o L E————— -
/ Q\ 8] N+ Stroke !
© “D” Hex

. Cushion adjusting
Air Vent Valve  “ajve

Lock Nut for Rod
End Attachment
B1 Hex

KK Dia.

With Dust Cover
(Options)

Nylon Tarpaulin, {32—63 Dia.

Chloroprene

Conex

1/3 Stroke+X

80-160 Dia. 1/4 Stroke+X

{32-63 Dia.

1/2.5 Stroke+X

80-160 Dia. 1/3 Stroke+X

Positions of port at the rod side, cushion adjusting valve and air vent valve are only available below:
@Port position:@ Cushion adjusting valve position:© Air vent valve position:©

Please specify the positions (®,®),0),D) at cap cover side only.

)
}

cﬁg‘r‘ier A B Bi|C|D|E|h|[L|M|N|Q| S| T |U|/V|HW| Y| Z|AA|KK]|X
32 16 | M12x1.25 19 | 24 | 13 | 15 34 | 58 81 44 | L7 | Max.5 | 44| 16 44 76 1 142 36 | 50
40 | 16 | M12x1.25 19 | 24 | 13 | 15 34 |58 81 50 | 33 | Max.5| 44| 25| 50 | 100 | 1.6 | 142 40 | 50
50 | 22 | M18x1.5 24 | 36 | 19 | 15| 11 | 34 |58 81 | 62 |35 | Max5 | 44| 25| 63 | 113 | 1.6 | 154 45 | 55
63 | 22 | M18x1.5 24 | 36 (19 | 15|11 |34 |61 86 | 76 |3 g | Max.5| 44| 25| 76 | 126 | 1.6 | 157 45 | 55
80 28 | M24x2 32|48 | 24 | 19| 14 | 43 |67 96 94 | L5 | Max.5 | 57 | 25 95 | 145 1.6 | 191 60 | 65
100 36 | M30x2 41 | 60 | 30 | 23| 17 | 43 |67 98 [114 | L5 | Max.5 | 61| 32| 114 | 178 | 2.5 | 207 71 | 65
125 45 | M42x2 60 | 84 |41 | 25|22 |47 |73 | 108 |138 | L5 | Max.5 | 67 | 36 | 144 | 216 | 2.5 | 243 80 | 65
160 56 | M48x2 70 | 96 |50 | 29 | 26 |54 |84 | 124 |176 |34 | Max.5 | 79| 45| 184 | 274 | 3 280 | 100 | 70
TC : Intermediate Trunnion
Cylinder Bore 32 - 80
@ AA+Stroke
Y C_E _L M+-Stroke
R . w R “B"Thd. h Connection Port
.rDE' Rc “S” Thd. 2 Places
T 3 ¥
® @@@ Tidse &
. hl ol Al O Tl )
@ <t == With Dust Cover
@ 1 @ Lock Nut for Rod h=n (Options)
i End Attachment
. Q T B1 Hex
© . — Ut1/2stioke | N+1/2Stroke |
R*Z D" Hex &
a
Cylinder Bore 100 - 160 N
® AA+Stroke X
Y C_E L M+ Stroke )
“B"Thd. h Connection Port
e Rc “S” Thd. 2 Places
(T 77i_[ii ‘ﬁ Nylon Tarpaulin, | 32-63 Dia.  1/3 Stroke+X
& 1 Chloroprene 80-160 Dia. 1/4 Stroke+X
2*734:& e 7@7’7'7 Ml 32.63Dia.  1/2.5 Stroke-+X
Lock Nut for Rod el — b——— o [ S— 5 Conex 80-160 Dia. 1/3 Stroke+X
End Attachment L] T
B1 Hex .
U+ 1/2Stroke T N-+1/2Stroke
“D” Hex w w
Cylinder
Bore A B Bi|C|D|E|h|L|M|N/|Q|R S T U V| W|Y Z | AA | BB | KK | X
32 | 16 | M12x1.25 19 | 24 | 13 |15 | 7|34 |58 |47 44 116 | L4 |Max5| 78 30 55| 87 |1 142 | 52| 36 |50
40 | 16 | M12x1.25 |19 | 24 | 13 | 15| 7 |34 |58 |47 50|25| 33 |Max.5| 78 |30 | 63|113| 1.6 |142| 59| 40 |50
50 | 22 | M18x%1.5 24 | 36|19 | 15|11 |34 |58 |47 62|25| 35 |Max.5| 78 [30| 76|126| 1.6 | 154 | 71| 45|55
63 | 22 | M18x1.5 24 | 36|19 |15| 11|34 |61 (505| 76 |25| 374 |Max.5| 79.5| 30 88138 | 1.6 | 157 | 86| 45|55
80 | 28 | M24x2 32|48 |24 (19|14 43|67 |57.7] 94|25| L% |Max.5| 955| 35 | 114 | 164 | 1.6 | 191 | 104 | 60 |65
100 | 36 | M30x2 41 | 60 | 30 | 23|17 |43 |67 |59.5| 114 | 32| L5 |Max.5| 99.5| 40 | 140 | 204 | 2.5 | 207 [ 132 | 71|65
125 | 45 | M42x2 60 | 84 |41 |25|22|47|73(66.5/138 |36 | L5 |Max.5|108.5| 53 | 166 | 238 | 2.5 | 243 | 160 | 80 |65
160 | 56 | M48x2 70 | 96 | 50 |29 | 26 |54 |84 |78 | 176 | 45| 374 |Max.5|125 |58 | 214 | 304 | 3 280 | 208 | 100 | 70




Ml Options
Lock Nut
Option Code : K H KK H B ©
‘ M12x1.25 7 | 19 | 219
M18x1.5 11 | 27 | 31.2
1) M24x2 14 | 36 | 416
M30x2 17 | 46 | 531
M42x2 22 | 65 | 75
M48x2 26 | 75 | 865
Rod End Attachment
T-End (Rod End Eye) Option Code : L
o Shmar ) F|lca|lcc|cD|cF|ER|FW| 4 | L
;‘ | Bore
* 32 | MI12x125 | 25 | 55| 20 | 12 | 24 |R12| 16 | - | 35
cc L 40 | MI12x125 | 25 | 60| 20 | 14 | 24 |R12| 20 | - | 40
. 50
CDHODia. R CA M18x15 | 37 | 64 | 18 | 14 | 28 |R14| 20 | - | 46
Through 63
e
p ,W 80 | M24x2 49 | 100 | 30 | 20 | 38 |R19| 32 | - | 70
. N ) - 100 | M30x2 61 | 110 | 37 | 25 | 48 |R24| 40 | - | 73
e 125 | M42x2 67 | 132 | 40 | 32 | 70 | 32| 45 | 15 | 92
J F 160 | M48x2 78 | 150 | 45 | 36 | 79 | 36| 50 | 19 | 105
Y-End (Rod End Clevis) Option Code : M
@Cylinder Bore 32 - 100 @Cylinder Bore 125, 160
CD f8 Dia. '
|| CD f8 Dia.
i
3 | st [ .
N :g ‘ ,:: Zzzzooozzzzzo Q o :g 1 ,,,,,,,,,,,,,,,,,
++ I R _ D ++ |
5 2 i | m 6| = |
L B ) 18 |
3 ‘ 2 !
O = [G) B ] %
5 cC L 5 cc L
Cylinder Bore 125, 160 Only
CD H10 Dia. CAThel. -
Through “KK” Thd.
J5
(6]
ER CD H10 Dia. ER CA ‘
Through '
CXB'L’:‘:E’ KK F|lcalcc|cp|cF|lcw|ER|Fw|cv|cP| J | L
32 | MI2x125 | 25 | 55| 20 | 12 | 24 | 8 |R12| 16| 7 | 46| - | 35
4 | M12x125 | 25 | 60 | 20 | 14 | 24 | 12 |R12| 20 | 7 | 58| - | 40
50
o M18x15 | 37 | 64 | 18 | 14 | 28 | 12 |R14| 20 | 7 | 58| - | 46
80 | M24x2 49 [100 | 28 | 20 | 38 | 16 |R19| 32 | 7| 78| - | 72
100 | M30x2 61 | 110 | 35 | 25 | 48 | 20 |R24 | 40 | 7 | 94| - | 75
125 | M42x2 75 | 132 | 40 | 32 | 65 | 225| 35| 45 | 10 | 105 | 15 | 92
160 | M48x2 86 [150 | 45 | 36 | 70 | 25 | 40| 50 | 10 | 115 | 15 | 105

"CJT 3.5 MPa" Series Hydraulic Cylinders

J-17



CJT 35

100

Cylinder Bore 32 -

Item @ @) ® ® ® ® O]
. Name Dust Seal |Rod Packing Pistqn G ALy OARIE O-R_ing Ctjlsar:\i/%n S/Z?\?Ie(
Cylinder Packing | for Cover for Bush | for Piston Seal Seal
Bore | Model Numbers Qty
for Seal Kit 1 1 2 2 1 2 2 4
32 | KS-CJT35- 325-30 DHS-16 UHR-16 | RHP-32 TX- 32 G25 S10 TF- 8 CR- 8
40 | KS-CJT35- 40S-30 DHS-16 UHR-16 | RHP-40 TX- 40 G25 P12 TF- 8 CR- 8
50 | KS-CJT35- 50S-30 DHS-22 UHR-22 | RHP-50 TX- 50 G35 P18 TF- 8 CR- 8
63 | KS-CJT35- 63S-30 DHS-22 UHR-22 | RHP-63 TX- 63 G35 P18 TF-12 CR-12
80 | KS-CJT35- 80S-30 DHS-28 UHR-28A | RHP-80A TX- 80 P36 P22A TF-12 CR-12
100 | KS-CJT35-100S-30 DHS-36 UHR-36 | RHP-100A | TX-100 P46 G30 TF-14 CR-14
125 | KS-CJT35-125S-30 DHS-45 UHR-45A | RHP-125A | TX-125 G55 G40 TF-14 CR-14
160 | KS-CJT35-160S-30 DHS-56 UHR-56 | RHP-160 TX-160 G65 G50 TF-14 CR-18

Please specify the seal kit numbers above when ordering the seals.
O-ring is OR NBR-70-1 P(G)**-N. Reference The O-ring code "S" for the cylinder bore 32 is a specia standard.
Material of standard packing is Nitrile Rubber. About Fluoro Rubber and Hydrogenated Nitrile Rubber, please specify "F-" in addition to the
model of seal kit after "KS".
Fluorine Rubber : F-

Note: The packing code changes without notice.

Hydrogenated Nitrile Rubber : 6-

AnmaTtbl (7273)495-231
Anrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop, (4722)40-23-64
BnaroBelyeHck (4162)22-76-07
BpAHck (4832)59-03-52
BnanuBocTok (423)249-28-31
Bnapnwkaskas (8672)28-90-48
Bnagumunp (4922)49-43-18
Bonrorpag, (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
Ekatepunby pr (343)384-55-89

MBaHoBO (4932)77-34-06
WMxeBck (3412)26-03-58
WpkyTck (395)279-98-46
KasaHb (843)206-01-48
KanunwuHrpan (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KonomHa (4966)23-41-49
KocTtpoma (4942)77-07-48
KpacHopnap (861)203-40-90
KpacHosapck (391)204-63-61
KypraH (3522)50-90-47
Kypck (4712)77-13-04
Jnneuk (4742)52-20-81

Poccua +7(495)268-04-70

MarnunToropck (3519)55-03-13
Mocksa (495)268-04-70

MypmaHck (8152)59-64-93
HabepexHble YenHbl (8552)20-53-41
HwxHuin Hosropog, (831)429-08-12
HoBoky3Heuk (3843)20-46-81
Hosocubunpck (383)227-86-73
HoAbpbck (3496)41-32-12

Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeH3a (8412)22-31-16

Mepmb (342)205-81-47
MeTposaBopack (8142)55-98-37
Mckos (8112)59-10-37

KasaxcTtaH +7(7172)727-132

Mo Bonpocam Npoaax v noaaepku obpallaiTech:

PocToBs-Ha-[loHy (863)308-18-15
PAsaHb (4912)46-61-64

Camapa (846)206-03-16
CankT-MNeTepbypr (812)309-46-40
CapaHck (8342)22-96-24
CapartoB (845)249-38-78
CeBacTononb (8692)22-31-93
Cumd epononsb (3652)67-13-56
CMoneHck (4812)29-41-54

Coun (862)225-72-31
CraBponons (8652)20-65-13
CypryT (3462)77-98-35
CbIKTblBKap (8212)25-95-17
Tam6o B (4752)50-40-97

Teepb (4822)63-31-35

Kupruaua +996(312)96-26-47

yne@nt-rt.ru Il https://yuken.nt-rt.ru

TonbATTN (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
YnaH-Yps (3012)59-97-51
VYnbAHOBCK (8422)24-23-59
Yiba (347)229-48-12
XabapoBck (4212)92-98-04
Yebokcapbl (8352)28-53-07
YenabuHck (351)202-03-61
Yepenosey, (8202)49-02-64
Yura (3022)38-34-83
AkyTck (4112)23-90-97
Apocnaenb (4852)69-52-93



